Ne ApTUKYN HanmeHoBaHue Kon
1 |908-757-001 [OcHoBaHue 1
2 | 908-757-002 |Bubpatop 1
3 | 908-757-003 |Bubporacutens 4
4 Maiika M10 4
5 LWaiba 4
6 158000 |Koneca B cbope 1
7 LWalba 4
8 LWaiba 4
9 [908-740-006 |bont M16x40 2
10 153003-2 |OcHoBaHue aBuraTtens 1
11 bont M10x25 1
12 LWaliba 1
13 bont M8x40 15
14 LWanba 7
15 LWaliba 9
16 153007 MNnactmHa gsuratens 1
17 153006 MnactmHa guraTtens 2
18 LWalba 1
19 Malika M8 1
20 | 908-757-021 |Pama 1
21 | 908-757-022 |Koneco 2
22 90-0286  [lWKKMB 20 mMm 1
23 152005 |Waiiba 1
24 bont M8x30 4
25 [ 908-757-030 |PemeHb 13x838Li 1
26 153004-2 |[KpbllWKa pemMHA BHYTPEHHASA 1
27 | 908-757-034 |KoXKyx pemHsA 1
28 Bont M8x20 2
29 bont M6x00 2
30 LWaiba 2
31 105001 |3a*KMm pe3nHOBbIM 2
Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 1




Ne ApTUKYN HanmeHoBaHue Kon
32 Maiika M6 2
33 | 908-757-040 |BTynKa pe3nHoBa“ 4
34 | 908-757-041 |Pyuka 1
35 156003 BTynka 2
36 | 908-757-043 [BTynKa pe3nHoBas 2
37 | 908-757-044 |Bubporacutenb 2
38 LWalba 2
39 bont M12x55 2
40 LWaliba 2
41 155000-2 |Pama 3awmTHas 1
42 Bont M10%30 4
43 | 908-757-051 |Pbiyar rasa 1
44 90-0735 |Tpoc rasa (43,44) 1
45 | 2001002-2 |MnactuHa 1
46 151000-2 (Osuratens HONDA GX160 1
47 bont M10x35 3
48 | 2500100104 [KoBpuK 1
49 bont M8x35 3
50 KonbLo ctonopHoe 1
51 KonbLo ctonopHoe 2
Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




Ne ApTUKYN HanmeHoBaHue Kon
52 154009 Kopnyc aKkcueHTpuKa 1
53 | 908-740-061 |bonT cnneBHoOM 1
54 027011 |Wanba 1
55 154007  |IKCLEHTPUK 1
56 | 908-740-057 [MogwmnHuk 6211 2
57 154008 KpblwKa Kopnyca npasas 1
58 154006 KpbiwKa Kopnyca nesas 1
4 59 | 908-757-069 [KpbIwKa sKcueHTpUKa 1
@ 60 | 908-740-055 [CanbHKK 35x48%x10 1
/7 55 61 | 908-740-062 [Konbuio 2
62 bont M8x25 8
63 LWalba 8
64 LWaiba 8
65 154004 LWKne 1
66 | 908-757-076 |LUnoHKa 1
67 154003 |Waiba 1
68 bont M10x20 1
69 Laiba 1
Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 3




— 81

Ne ApTUKYN HanmeHoBaHue Kon
70 | 2500100106 |bak 1
71 157007 LWTyuep ¢ KpaHOM 1
72 | 908-757-083 |WnaHr 1
73 | 908-757-084 |Oep:KaTe b LWiaHra nesblii 1
74 | 908-757-085 |[eprKkaTenb WAaHra npasbin 1
75 bont M8x30 2
76 LWalba 2
77 157002 |Mpobka 1
78 Bbont M10x30 1
79 LWaiba 2
80 LWaiiba HennoHoBanA 1
81 157000 BaK ans Boabl, KOMNNEKT 1
Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




2
o

ApTUKYN HanmeHoBaHue Kon

90-0120 |FonoBKa unanHapa B cbope

01-168-002 (LLnunbka KapbropaTopa

01-168-003 |BTynka P10x14

* MpoKnazKa rosoBKu

01-168-005 |lWnwunbKa rnywuTtena

LR5YC CBeya 3axkuraHuma LR5YC

01-168-007 |boAnT ronoBKM UMAMHAPA

* MpoKnaaKa KnanaHHOM KPbILWKK

kDOO\lO'\U’l-bUJNI—\l

01-168-009 |KpblwKa KnanaHoB

10 | 01-168-010 |BoAT KNanaHHOM KPbILLKK

SN N TSN P I N Nl PN R N S T

11 90-1082 |TpybKka oTBOAA ra3os

* 90-0192 |Habop npoKknagok

Mogenb

Bubponnura VP90-HK

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 5




Ne ApTUKYN HanmeHoBaHue Kon
@ 1 UnnanHgp 1
2 90-0630 |CanbHUK 2
3 | 02-168-003 |Waiiba 1
4 | 02-168-004 |boAnT cAMBHOrO OTBEPCTUA 1
5 90-0626 |Pene patumka macna 1
7 | 02-168-007 [daTyMK ypoBHA macna 1
9 | 02-168-009 [LUecTepHs perynatopa ob6opoToB 1
10 90-0461 ([MogwmnHuk 6205 1
11 | 02-168-011 |Wanba 1
12 | 02-168-012 [3axkum 1
13 | 02-168-013 [Pbiuar Bana per. obopoToB 1
Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




2
o

ApTUKYN

HanmeHoBaHue

Kon

03-168-001

MpobKa (wyn)

03-168-002

bont M8x32

03-168-003

KpbiwKa KapTepa

90-0630

CanbHWK KoneHsana

90-0461

MogwnnHmK Konensana 6205

03-168-006

BTtynka

*

MpoKnaaKa KapTepa

RIN|R RN

*\lO'\U'l-bUJNI—‘.

90-0192

Habop npoknanok

Bubponnura

Mogenb

VP90-HK

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




Ne ApTUKYN

HanmeHoBaHue

Kon

90-0852

Konbuo nopuwHesoe @68x1,5

04-168-002

Konbuo CTONopHOe

90-0152

MoplueHb @68

04-168-004

Manew, NnoOpLwHA

90-0180

WaTyH

04-168-007

LLInoHKa maxoBuMKa

0 IN|[O|P|W[IN |

KoneHnBan

RlRr[RrIN[R]IN|[-

Bubponnura

Mogenb

VP90-HK

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




Ne ApTUKYN HanmeHoBaHue Kon

5 * KpoHLWTEeNH Kopombicen 1

6 * LWTaHra Tonkarena 2

7 * Tapenka Tonkatens 2

8 * PoTtatop 1

9 * CTtonop NpyXunHbl BbIMYCKHOrO KnanaHa 1

9a * Cronop npyXuHbl BMIYCKHOrO KnanaHa 1

10 * Mpy*KK1Ha KanaHa 2

11 90-0246 |Konnayok mMacioCbeMHbIi 1

12 90-0673 |KnanaHbl Habop 1

13 | 05-168-013 [PacnpepBan 1

14 | 05-168-014 [Kopombicno Habop 2

* 90-0859 |PemMKOMMIEKT rONI0BKM LMANHAPA

Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




Ne ApTUKYN HanmeHoBaHue Kon
2 90-0115  |BbikntovaTenb 3aXKMraHumA 1
4 90-0850 [KoxKyx maxoBuKa 1
7 90-0494 |CrapTep B cbope 1
16 90-0252  |Pyuka cTapTtepa 1
17 909-020 (WHyp cTtapTepa 4,5 mm 1
Mogenb
Bubponauta
P VP90-HK
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




Ne ApTUKYN HanmeHoBaHue Kon

1 * Mpoknaaka TenaonsonaTopa 1

2 | 08-168-002 [Tennousonatop 1

3 * MpoknaaKa KapbopaTopa 1

4 * MpoKknaaKa Kopnyca Bo3aywHoro ¢uabTpa 1

5 90-0128 |Kapb6topaTtop 1

10 ok Mpy*KWHa pblyara 1

13 ok Pbiyar perynatopa 1

14 ok MpyunHa TArK 1

15 | 10-168-015 (Tara peryndatopa 1

16 90-1084 [MaHenb ynpaBneHua 1

* 90-0192 |Habop npoknaaok

ok 90-0624 |Habop npyxuH

Mogenb
Bubponnura VP90-HK
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 11




Ne ApTUKYN HanmeHoBaHue Kon
90-0727 |Kopnyc Bo3aywHoro ¢punbTpa 1
90-0645 |®unbTp BO3AYLIHbIN 1

[

(2]

1
Mogenb
Bubponnura
P VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 12




Ne ApTUKYN HanmeHoBaHue Kon
2 90-0265 |[MarHeTo 1
3 90-0117 |Konnayok cBeyHol 1
5 | 15-168-005 [MaxoBuK 1
11 | 15-168-011 [Kpblab4yaTKa maxoBUKa 1
12 | 15-168-012 [XpanoBuK cTapTepa 1
13 | 15-168-013 |[laiKka maxoBKMKa 1
14 | 04-168-007 [LWnoHKa maxoBuKa 1
Mogenb
Bubponauta
P VP90-HK
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 13




2
10

ApTUKYN

HanmeHoBaHue

Kon

15-188-001M

MNpobka 6eH306aKa

14-168-002

duNbTP TONAMBHBIN

90-0614

BaKk TonMBHbIN

15-188-005

LWtyuep

15-188-006

3axKum

90-0737

LWnaHr TonaunsHbIn (6, 7)

90-0619

rnywurtens

O |IN|OD|V [N |-

*

MpoknagKa raywurens

=
o

13-168-002

larka

RIR[RrRr[NR[RR ]~

*

90-0192

Habop npoknaaok

Bubponnura

Mogenb

VP90-HK

Asse

Technical department

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

Pa

ge 14




